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4.5-4.6 Quiz Review
Solve the following equations by factoring.

1 x2-2x-24=0 2, 3x2=x+4 ~12
{%~eXxt4) =0 3I-X4=0 43
< Sy’-dXt3v -4 =
v_l=y Ytd=0 Sy 0
A=o=0 X(3‘x-4)1‘-\(5y—4\ =8
x= (o, -4 (3 -0A=0 4
=3,
3. x2—6x+9=0 4, 3x? 445 = 24x :
: Z
-5) X"S) = X -3%X +¢45z 0
(=3)( 3(x* gx +15) =0
X=23 3(x-5)x-3)=0
X= 5, =
5 4x2+6x=0 6. 12x2—x—1=0 = T3
Ax(Ax43) = s> dxfi3x-f 25—, 3
(4xE0D) (3x—) =6
'>( - O) _3/9 _’\/ ‘/
X= ' 13
Solve the following by graphing on a graphing calculator. Round to the nearest thousandth.
7. §x2+3x—-6=—2x 8. —3x*-2x=-2
\("gabbai [.()5l X‘: -—I'&’6/ 0‘51_’0'
9. A woman drops a front door key to her husband from their apartment window several stories above the ground.
The function h = —16t2 + 64 gives the height h of the key in feet, t seconds after she releases it.
a. Whatis the height of the key before it is released?
1=0  hugt= oo feet
W
b. How long does it take the key to reach the ground?
~lpt* te¥=0
1wt = (Y 2 SCeondys bl
€7 4
L=223
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Solve the following equations by finding square roots. Simplify all irrational answers.

10. 3x2 =75 11. 5x%2 - 45=0 12. 4x* - 49 =10
Yt as bX =45 tx =4
<
y=T{as X7z 4 x> 41
. x = t{q G
- - -t
X X ;13 X’ - (&.:"1—
x=* /3
13. Aboxis 4 in. high. Its length is 1.5 times its width. The volume of the box is 1350 in2. What are the width and
length of the box? l, 5% X VT LnwhH W= IS In
135D = '—}(l.S?c)(\() Sz = A5 | =3a.5
s = x> =
© @ X =15
25 =% I5s(1.5)= 2a.5

Solve the following equations by factoring the left side of the equations.

14. x2+12x+36:—- 25 15. x? — 10x + 25 = 144
([~ +u)=[@s [(x -5) =i
Xto=1% 5 X-5= E£13
X=-Lb¥ 5 X=5%T
X = -1, 1l i ¥ B =
16_x2+6x+9-_-.':_9 ¥ = = 4 31 17.16x* +8x+1 =16
. ; S e B 114 _ 3
(X4+3) 7= 49y Lo (:XH) =1L - 3
+ X= 21 g X+l = 4 -4 _
X 3=y L.Lx:-ltq/"éi”r
x+5: l ! "":t -
2 X _-—-J:-*-_ X = 3/._“ 5/._‘_
Solve the following equations by competing the square.
18.x2+]&0x-—1=0 19. x2+2x-7=0
5 X+10X =) rax = Tl
;:‘ X2 Oxta 5= | +35 b=  y2avy| =TI
‘9b",55 (x15)° =20 by (x#d®= 3
2)=3 -
(a) xt+6 = oy ('%Y:{ X+l ?
= ~53{ap x=-1*aNa
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20. 4x2+20x+1=0

Hy?+20x=-1

“+ 4 T4

X+ 5% = I
5 2 . ml O
(X voxtag) = 1Y
6" 28
g ()(-Fs/a)"" v

X+ 53 = I

x= T2t v

21. 3x% +4x = 2x> + 3
X = ¥y =3
b= X X He = 34
by=2 (xra)’="T
C%)?""’ X+ = g ﬁ
af = g & {7

Rewrite the following equations in vertex form by completing the square.

2. y=x*-6x+4

= ¥ ~la>(+l'£[\1 Y-

23. y =x?+ 14x + 50

Lﬁ w Iyt ) +€b 42\

bF - 3 b~= ‘
P13 %’—'(Y"%) -5 : ’,' Lj (xt1)° +
(5 (5)7@
24’1 2_L+8;c+,2_ 25%= :%2 E@f}ﬁ-
y -2

y %—-lx sy +- T + -l :%_ - %~ 3% + TR +T __‘{-im
~] : a

= (X+a) —3 =-
%';9 A ( )'a ; z %" (X's/&) o
gl)":/_' %: (x+a) —bo ?;';1‘ \62 *&(Nfﬁ/;.) s 51

(37
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